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Since there is suffering for an animal, etc. — ¥71> 297 “H¥2 X X2ORT 119

OVERVIEW

The Xn>>12 taught that an 19721727 w2 72X (a dangling limb or flesh) from an
animal are 17712 vynn. The X3 asked but perhaps he will cut off this 972177 12
and throw it to the dogs (so it won’t remain in the 1Y71)? The X713 answered that
since this (cutting it off) will cause the animal pain we assume that he will not do
it. Therefore he is 20an this 72X to the 17717 and it is vv»n. Our MPOIN clarifies this
reasoning.

nvoIN asks:
= 1992595 Y1) HrHY NNNA NDIS 9NN ON)

And if you will say; he will take the entire animal and throw it do the dogs
(after he will kill it), so he is not 502 the 1172 and the 12X to the 1o, so why is it vynn?!

nIDOIN answers:
= 21152 55109 0NN NINNT NOD MITT D) 9P 2999107 9D YN

And one can say we are discussing a monkey or something similar to a

monkey, which he placed there by the window for his pleasure (enjoyment) -
= 3199 NNNA VPI XYY TWA) AN VPIT NN

So now it is understood why the Xn>72 mentioned a limb or flesh (that is
dangling), but did not mention an actual animal -

1092999 1Y 1Y NN RY INY N2 SHPVY NY DYDY SH1PVY NI INYT
For if it is usable for his enjoyment, he will remove it from the window to
entertain himself with the animal, and if it is useless for enjoyment he will
throw it to the dogs (since it has no other use).

SUMMARY
One would not be v27 an unfit to eat (non-kosher) animal to the 1%r; he will either
use it for amusement (if possible) or throw it to the dogs; however he will be Hvan

! The X3 already established that we are discussing a non-kosher skinny animal that he has no other use for, so he
will certainly kill it (no n1"va 2vx there) and give it to the dogs. In any event he is not 2van the 92X to the Non.
2 Therefore he will certainly not kill it, and he will also not sever the 9721771 72X because of 1"va 7wx. Here 72 *o1ub
does not mean he will take if for a walk, but rather entertain himself there next to the 27217117 72X.
3 We established that the animal was tied (and cannot move) and that it was not fit to be eaten, so why discuss the
9799717 72K, when we can discuss that he placed the animal in the window!
4 Therefore the Xn>™M2 states that only the 97917577 72X was actually in the window and the animal (monkey) was
nearby, so he can still play with the animal (and will not throw it to the dogs), and will be Pvan the 72K to the 1om.
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the 2791717 72aR of this animal to the 1%n if the animal can entertain him.

THINKING IT OVER

The notion, that this Xn>72 is discussing a monkey that he wishes to play with,
seems a little far-fetched and the Xn»92 certainly does not state this (explicitly).
How did m»ooin derive this?
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